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Problem quickname: 7543

1)
Calculate the correct amount.

a) 10 km? 260691 m? 46 dm? - 8 km? 957071 m? 3 dm? + 67 km? 75051 m? 78 dm?
+ 53 km? 889002 m? 43 dm? =

b) 10 km? 820417 m? 18 dm? 7 em? + 21 km? 490457 m? 15 dm? 15 em? + 65 km?
945664 m? 19 dm? 29 cm? + 65 km? 777267 m? 70 dm? 32 cm? =

¢) 16 km? 49064 m? + 23 km? 785043 m? + 20 km? 610489 m? + 18940973 m? =
79 km? 385569 m?

d) 72 km? 223565 m? 52 dm? + 90 km? 166001 m? 58 dm? - + 6483430663 dm? =
16 km? 488135 m? 15 dm?

¢) 64 km? 837416 m? 57 dm? 75 cm? - - - =

f) 40 km? 682064 m? - 2 km? 26809 m? - 29160744 m? - 5 km? 668055 m? = 3 km?
826456 m>

g) 31 km? 854788 m? + 15 km? 168817 m? + 12 km? 548832 m? + 15701673 m? =
75 km? 274110 m?

h) 13 km? 332458 m? - 1 km? 914858 m? + 87 km? 284478 m? - 65 km? 40182 m?
— 33 km? 661896 m?

i) 3 km? 342448 m? 11 dm? 85 cm? 83 mm? - 14 m? 20 dm? 50 cm? 83 mm? - 121
m? 98 dm? 24 em? 12 mm? - 584 m?2 63 dm? 96 cm? 29 mm?2 = 242 m? 73 dm?
51 Cm2 71 mm?

i) 24 km? 977133 m? 6 dm? 55 cm? + 376726756139 cm? + 33 km? 968363 m? 60
dm? 11 em? 4 85 km? 838656 m? 82 dm? 99 cm? =

2)
Calculate the correct amount.

a) 35 Euros 48 Cents + 53 Euros 4 Cents + 14 Cents = 88 Euros 66 Cents

b) 32 Euros 3 Cents + 37 Euros + 6 Euros 24 Cents = 75 Euros 27 Cents

c) 28 Euros 37 Cents + 41 Euros 16 Cents + 28 Euros 94 Cents = 98 Euros 47 Cents
d) 47 Euros 72 Cents - 45 Euros 54 Cents - 1 Euro 78 Cents = 40 Cents

e) 57 Euros 28 Cents - 53 Euros 86 Cents - 76 Cents = 2 Euros 66 Cents

f) 31 Euros 13 Cents - 30 Euros 49 Cents + 80 Euros 9 Cents = 80 Euros 73 Cents
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g) 45 Euros 16 Cents 4+ 17 Euros 40 Cents + 27 Euros 45 Cents = 90 Euros 1 Cent
h) 7 Euros 46 Cents - 6 Euros 21 Cents - 43 Cents = 82 Cents

i) 91 Euros 93 Cents - 33 Euros 32 Cents + 10 Euros 77 Cents = 69 Euros 38 Cents
j) 53 Euros 63 Cents - 2 Euros 17 Cents + 29 Euros 81 Cents = 81 Euros 27 Cents

3)
Calculate the correct amount.

a) 43 dollars 94 cents + 10 dollars 27 cents + 19 dollars 31 cents = 73 dollars 52 cents

b) 23 dollars 35 cents + 24 dollars 43 cents + 46 dollars 92 cents = 94 dollars 70 cents
c¢) 37 dollars 51 cents + 58 cents + 43 dollars 61 cents = 81 dollars 70 cents

d) 21 dollars 57 cents + 74 dollars 74 cents + 1 dollar 99 cents = 98 dollars 30 cents
e) 17 dollars 85 cents + 28 dollars 65 cents + 7 dollars 11 cents = 53 dollars 61 cents
f) 36 dollars 28 cents + 564 cents + 37 dollars 76 cents = 79 dollars 68 cents

g) 17 dollars 62 cents + 50 dollars 36 cents + 1 dollar 34 cents = 69 dollars 32 cents

h) 10 dollars 54 cents + 63 dollars 30 cents + 16 dollars 63 cents = 90 dollars 47 cents
i) 14 dollars + 33 dollars 58 cents + 43 dollars 64 cents = 91 dollars 22 cents
j) 49 dollars 43 cents + 21 dollars 46 cents + 17 dollars 18 cents = 88 dollars 7 cents

4)

Calculate the correct amount.

a) 67 t 638 kg + 763 kg = 68 t 401 kg

b) 23 t 960 kg + 27 t 805 kg = 51 t 765 kg
c) 91 kg 629 g + 6 kg 497 g = 98 kg 126 g
d) 64 t 349 kg + 29 t 223 kg = 93 t 572 kg
e) 53t 139 kg + 4 t 117 kg = 57 t 256 kg
£) 70 kg 994 g + 25 kg 714 ¢ = 96 kg 708 g
g) 67 t 668 kg + 30850 kg = 98 t 518 kg
h) 33 kg 962 g + 27577 g = 61 kg 539 g

i) 81t 815 kg + 4t 897 kg = 86 t 712 kg
j) 75 kg 268 g + 13 kg 84 g = 88 kg 352 ¢

Good Luck!
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